Dílčí základ daně
§ 6 : 535 000
§ 7 : 821 154 – 992 821 = - 171 667
§ 8 : 881
§ 9 : 20 000  - 7 000 = 13 000  
§ 10: 48 210 – 40 000 = 8 210 
 
DZD § 7 - § 10: -149 576  
DZD § 6: 535 000

Základ daně 			535 000
- životní připojištění	 	     6 428
- penzijní pojištění 		     7 200
- dary 				   28 000
- úroky 			     2 458 
Základ daně 2 			490 914
Základ dně 2 zaokrouhlený  	490 900
Sazba daně			       15 % 
Daň přes slevou  		    73 635 
- sleva na poplatníka		    30 840
- daňové zvýhodnění 		    5 x 1 267 + 5 x 1 860 = 15 635
Daňová povinnost    		    27 160 
Zaplacené zálohy 		    28 585
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